Assignment
Draw a graph for each inequality.

1) x>5

-7-6 -5-4-3-2-101 2 3 456 7
3) x>2

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

5) x<5

-7-6 -5-4-3-2-101 2 3 45 6 7

7) x<-2
-7 -6 -5-4-3-2-101 2 3 45 6 7
9) p>-1

-7-6 -5-4-3-2-101 2 3 45 6 7

11) p>2

-7 6 -5-4-3-2-101 2 3 4 5 6 7

13) n>-5

-7-6 -5-4-3-2-101 2 3 45 6 7
15) r<-1

-7-6 -5-4-3-2-101 2 3 456 7

17) k<-5

-7 -6 -5-4-3-2-101 2 3 45 6 7

19) m>-1

-7-6 -5-4-3-2-101 2 3 4 5 6 7

Name

ID: 1

Date

Period

2) k>-5

7 6-5-432-10 123 456 7
4) k>-2

65 435 001 23 45 6 7
6) b<-5

-7-6-5-4-3-2-101 2 3 45 6 7

8) x<2
-7 -6 -5-4-3-2-101 2 3 45 6 7
10) a<5

-7-6 -5-4-3-2-101 2 3 45 6 7

12) n>5

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

14) r<2

-7-6 -5-4-3-2-1012 3 45 6 7

16) k<-1

-7-6 -5-4-3-2-101 2 3 4 5 6 7

18) b<—4
-7-6 -5-4-3-2-101 2 3 45 6 7
20) n>—4

-7-6-5-4-3-2-101 2 3 4 5 6 7
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21) n>-4 22) n< -4

-7 -6 -5-4-3-2-101 2 3 45 6 7 -7-6-5-4-3-2-101 2 3 45 6 7
23) X>6 24) x<6
-7-6 -5-4-3-2-101 2 3 45 6 7 -7-6 -5-4-3-2-101 2 3 45 6 7
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Answers to Assignment (ID: 1)

1) 4+t =P 2) e

-7-6-54-3-2-10123 45617 -7-6-5-4-3-2-1012 3 45 6 17
3) - O—tttt—i=) 4) e

—7—6 5—4—3—2101234567 -7-6-5-4-3-2-101 2 3 45617
5)‘ ..... OI |) 6)

—7—6—5-4—3—2101234567 -7-6-5-4-3-2-101 2 3 45617
7) N ettt

765—4—3—2101234567 -7-6-5-4-3-2-101 2 3 45617
9) €H—————-Omimmimpjjidy 10) sl ———>

—7—6-5—4—3—2101234567 -7-6-5-4-3-2-1012 3 45 6 17
11) €é————————-Omimmfmjmmigy 12)

-7-6-54-3-2-10123 45617 -7-6-5-4-3-2-1012 3 45 617
13) € @il 14)

-7-6-5-4-3-2-101 2 3 45617 -7-6-5-4-3-2-101 2 3 456 17
15) dmimimmimjumion O————————+> 16)

-7-6-54-3-2-101 2 3 45617 -7-6-5-4-3-2-101 2 3 45617
17) ===+ 18)

—7—6—5—4—3—2101234567’ —7—6—5—4—3—2—101234567’
19) ¢4+ . —— 20) €——Omimmjmjijj—p—j———

) -7-6-54-3-2-101 23 45617 ) -7-6-5-4-3-2-101 2 3 45617

21) € Ot 22)

-7-6-54-3-2-101 23 45617 —7—6—5—4—3—2101234567
23) 4+ttt == 24) €=

-7-6-54-3-2-10123 45617 —7—6 5—4—3—2101234567
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Assignment
Draw a graph for each inequality.

1) a<-1

-7-6 -5-4-3-2-101 2 3 45 6 7

3) p<£2

-7-6 -5-4-3-2-101 2 3 45 6 7
5 n>-4

-7-6 -5-4-3-2-101 2 3 45 6 7
7)r>2

-7 -6 -5-4-3-2-101 2 3 45 6 7
9) v< -1

-7-6-5-4-3-2-101 2 3 4 5 6 7

11) v<2

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

13) x<-4

-7-6 -5-4-3-2-101 2 3 45 6 7

15) x<3

-7-6 -5-4-3-2-101 2 3 4 5 6 7

17) x<6

-7 -6 -5-4-3-2-1012 3 45 6 7

19) r>3

-7-6-5-4-3-2-101 2 3 4 5 6 7

Name

ID: 2

Date

Period

2) a<—4

-7-6 -5-4-3-2-1012 3 45 6 7
4) Xx>6

-7 -6 -5-4-3-2-101 2 3 45 6 7
6) r>-1

-7-6 -5-4-3-2-101 2 3 45 6 7

8) n>6

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

10) x<6

-7-6-5-4-3-2-101 2 3 4 5 6 7

12) m>3

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

14) b>-1

-7 -6 -5-4-3-2-101 2 3 45 6 7

16) b> -4

-7-6-5-4-3-2-101 2 3 4 5 6 7

18) p<3

-7-6 -5-4-3-2-1012 3 45 6 7

20) k<0

-7-6-5-4-3-2-101 2 3 4 5 6 7
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21) m>0 22) a>0

-7-6-5-4-3-2-101 2 3 45 6 7 -7-6 -5-4-3-2-10 12 3 45 6 7
23) n<0 24) n>-3
-7 -6 -5-4-3-2-101 2 3 4 5 6 7 -7-6 -5-4-3-2-101 2 3 45 6 7
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11)
13)
15)
17)
19)
21)

23) €=

Answers to Assignment (ID: 2)

—7—6—5—4—3—2—1 0 1 2 3 4567

765—4—3—2101234567

-7-6-54-3-2-10123 45617

-7-6-5-4-3-2-1012 3 45617

-7-6-54-3-2-101 23 4567

-7-6-54-3-2-10123 45617

-7-6-54-3-2-1012 34567

-7-6-54-3-2-10123 45617

-7-6-54-3-2-10123 45617

—7—6—5—4—3—2 10 l 2 3456 7

—7—65—4—3—2101234567

s mabh-worksheeh.ory

2)

-7-6-54-3-2-1012 3 45 6 17
4)

-7-6-5-4-3-2-101 2 3 456 17
6) .

-7-6-5-4-3-2-101 2 3 45617
8)

-7-6-5-4-3-2-101 2 3 45617
10) bl ——>

-7-6-5-4-3-2-1012 3 45 6 17
12)

-7-6-5-4-3-2-1012 3 45 6 17
14)

-7-6-5-4-3-2-101 2 3 456 17
16)

-7-6-5-4-3-2-101 2 3 45617
18)

-7-6-54-3-2-10123 45617

20) i}

-7-6-54-3-2-1012 3 456 17

22) - Ottffii=)y

-7-6-5-4-3-2-101 2 3 4567

24)

76-5-432-101234567
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Assignment
Draw a graph for each inequality.

1) n>0

-7-6 -5-4-3-2-101 2 3 4 5 6 7
3) x<-3

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

5) x<6

-7-6 -5-4-3-2-101 2 3 45 6 7

7) m<0

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

9) b>3

-7-6 -5-4-3-2-101 2 3 4 5 6 7

11) x>-3

-7-6-5-4-3-2-101 2 3 45 6 7

13) a<3

-7-6 -5-4-3-2-101 2 3 45 6 7

15) r>-6

-7-6 -5-4-3-2-101 2 3 456 7
17) v<—6

-7 -6 -5-4-3-2-101 2 3 4 5 6 7
19) x>-6

-7-6-5-4-3-2-101 2 3 4 5 6 7

Name

ID: 3

Date

Period

2) V=6

-7-6-5-4-3-2-101 2 3 4 5 6 7

4) v>3

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

6) k<3

-7-6-5-4-3-2-101 2 3 4 5 6 7

8) x<-3

-7 -6 -5-4-3-2-1012 3 4 5 6 7

10) b>0

-7-6 -5-4-3-2-101 2 3 45 6 7

12) p<6

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

14) n<0

-7-6 -5-4-3-2-1012 3 45 6 7

16) n>-3

-7-6-5-4-3-2-101 2 3 4 5 6 7

18) x<-6

-7-6 -5-4-3-2-101 2 3 45 6 7

20) n<4

-7-6 -5-4-3-2-101 2 3 4 5 6 7
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21) v>4 22) k>4

-7 -6 -5-4-3-2-101 2 3 45 6 7 -7 -6 -5-4-3-2-101 2 3 45 6 7
23) m<4 24) a>1
-7-6-5-4-3-2-101 2 3 45 6 7 -7-6 -5-4-3-2-101 2 3 45 6 7
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Answers to Assignment (ID: 3)

1) € @t 2)

-7-6-54-3-2-1012 3 4567 -7-6-5-4-3-2-101 2 3 4567
3) €ttt O 4)

—7—6 5—4—3—2101234567 —7—6 5—4—3—2101234567
5)‘ ..... .l) )‘

—7—6—5-4—3—2101234567 —7—6—5—4—3—2101234567

7) € 8)
—7-6—5—4—3—2-101234567 -7-6-5-4-3-2-10123 45617

9) Ol 10) €Ol

-7-6-5-4-3-2-101 2 3 45 617 -7-6-5-4-3-2-1012 3 45617
11) € @minmimimmjj il 12)

-7-6-54-3-2-101 23 45617 -7-6-5-4-3-2-101 2 3 45617
13) il O —————> 14)

-7-6-54-3-2-1012 3 45617 -7-6-5-4-3-2-101 2 3 45617
15) €-Omimmjmjmjjjjjjj—j—gy 16)

-7-6-54-3-2-1012 345617 -7-6-54-3-2-1012 3 4567
17) == 44— 18)

—7—6—5—4—3—2 -10 1 2 3 45 6 7 -7-6-54-3-2-1012 3 4567
19) € @i j—j—t—] 20)) *omsbomsfemmesfsfsmms s

—7-6—5—4—3—2 -10 12 3 45 6 7 -7-6-5-4-3-2-1012 3 4567
21) 4+t Om=d 22)

—7—6-5—4—3—2 10 l 2 3 4 56 7 -7-6-5-4-3-2-101 2 3 45617
23) €=+ ————1—> 24)

—7—6 5—4—3—2 10 l 2 3 4 5617 -7-6-5-4-3-2-101 2 3 456 17
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Assignment
Draw a graph for each inequality.

1) a>4

-7-6 -5-4-3-2-101 2 3 4 5 6 7

3) p=-6

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

5 r<-3

-7-6 -5-4-3-2-101 2 3 45 6 7

7) r<-6
-7-6 -5-4-3-2-10 12 3 45 6 7
9) v>-6
-7-6-5-4-3-2-101 2 3 4 5 6 7
11) m>4
-7-6-5-4-3-2-101 2 3 45 6 7
13) x< -2
-7 -6 -5-4-3-2-101 2 3 4 5 6 7

15) x> 1

-7-6 -5-4-3-2-101 2 3 4 5 6 7

17) p>-2
-7-6 -5-4-3-2-101 2 3 45 6 7
19) m<-5

-7-6 -5-4-3-2-101 2 3 4 5 6 7

Name

ID: 4

Date

Period

2) x>-3

-7-6 -5-4-3-2-101 2 3 4 5 6 7

4) n<1

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

6) n<4

-7-6 -5-4-3-2-101 2 3 45 6 7

8) n<1

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

10) x>1

-7-6 -5-4-3-2-101 2 3 45 6 7
12) m< -6

-7-6 -5-4-3-2-101 2 3 45 6 7
14) b<4

-7-6 -5-4-3-2-101 2 3 4 5 6 7
16) x> -2

-7-6 -5-4-3-2-101 2 3 45 6 7
18) r<-2

-7-6 -5-4-3-2-101 2 3 45 6 7
20) b>-5

-7-6-5-4-3-2-101 2 3 4 5 6 7
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21) n>-5 22) V< -5

-7 -6 -5-4-3-2-101 2 3 45 6 7 -7-6 -5-4-3-2-10 12 3 45 6 7
23) x>5 24) x<5
-7-6 -5-4-3-2-101 2 3 45 6 7 -7-6 -5-4-3-2-101 2 3 45 6 7
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Answers to Assignment (ID: 4)
1) | 2)EIIII...........’

-7-6-54-3-2-101 23 45617 —7—6 5—4—3—2 10 1 23 45 6 17
3) €Ot} 4) €=

-7-6-54-3-2-101 2 3 45 617 —7—6 5—4—3—2 10 1 2 3 4 5 6 17
5) €t ———— > 6) €=

-7-6-54-3-2-1012 3 45 617 —7—6—5—4—3—2 10 1 2 3 4 5 6 17
7) ) ettty

765—4—3—2101234567 -7-6-5-4-3-2-1012 3 45617
9) €H-Omimmlmmimfjfjjlffjeds 10)

—7—6—5—4—3—2 -10 12 3 45 617 -7-6-5-4-3-2-1012 3 4567
I 4+ttt 12)

-7-6-54-3-2-1012 3 45617 -7-6-54-3-2-1012 3 4567
LRI e e e i s o B o L e e S 14)

-7-6-54-3-2-101 2 3 45 6 17 -7-6-5-4-3-2-101 2 3 45617
15) €Ol 16)

-7-6-54-3-2-101 2 3 45 617 -7-6-5-4-3-2-101 2 3 45 617
17) €Ol 18)

-7-6-54-3-2-1012 3 45 617 -7-6-5-4-3-2-1012 3 45617
19) et ——————++++1+4+> 20) €——-Omimmjmjmjjj =)

-7-6-54-3-2-1012 3 45 617 -7-6-5-4-3-2-1012 3 45617
21) € Ot 22)

-7-6-54-3-2-1012 3 45617 —7—6—5—4—3—2 10 1 2 3 4 5 6 7
R I S e s o e e e e S g o 24) €=

-7-6-54-3-2-1012 3 45617 —7—6 5—4—3—2 10 1 2 3 4 5 6 17
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Assignment
Draw a graph for each inequality.

1) x<1

-7-6 -5-4-3-2-101 2 3 45 6 7

3) x<-2
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
5) a>-5

-7-6 -5-4-3-2-101 2 3 45 6 7

7) p>-2
-7 -6 -5-4-3-2-101 2 3 4 5 6 17

9) n>5

-7-6 -5-4-3-2-101 2 3 4 5 6 7

11) n<5

-7 6 -5-4-3-2-101 2 3 4 5 6 7

13) v<=2

-7-6 -5-4-3-2-101 2 3 45 6 7

15) m> -2

-7-6 -5-4-3-2-101 2 3 4 5 6 7

17) x>2
-7-6 -5-4-3-2-101 2 3 45 6 7
19) p>-1

-7-6-5-4-3-2-101 2 3 4 5 6 7

Name

ID: 5

Date

Period

2) b<-5
-7-6-5-4-3-2-101 2 3 45 6 7

4) a<5

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

6) p>1

-7-6 -5-4-3-2-101 2 3 45 6 7

8) n>-5
-7-6-5-4-3-2-101 2 3 45 6 7
10) r<2

-7-6 -5-4-3-2-101 2 3 45 6 7

12) k<-5

-7 -6 -5-4-3-2-1012 3 4 5 6 7

14) x>5

-7-6-5-4-3-2-101 2 3 45 6 7

16) x>2

-7-6-5-4-3-2-101 2 3 4 5 6 7

18) x<2

-7-6-5-4-3-2-101 2 3 45 6 7

20) v<-1

-7-6 -5-4-3-2-101 2 3 4 5 6 7
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21) k<-1 22) m>-1

-7-6 5-4-3-2-101 2 3 4 5 6 7 -7 -6 -5-4-3-2-101 2 3 4 5 6 7
23) n>—4 24) n<—4
-7 -6 -5 -4-3-2-101 2 3 4 5 6 7 -7 6 -5 -4-3-2-101 2 3 4 5 6 17
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Answers to Assignment (ID: 5)

1) €=
3)

—7—65—4—3—2101234567

765—4—3—2101234567

5) el IC ----------

—7—6—5-4—3—2 10 1 2 3 4 5 6 7
7)€I—l—I—I—I-C o

-7-6-5-4-3-=2 10 l 2 3 45 6 7
9)

-7-6-54-3-2-1012 3 45617
11)

-7-6-54-3-2-1012 3 45617
13)

-7-6-54-3-2-101 2 3 45 617
15)

-7-6-54-3-2-1012 3 45 617
17)

-7-6-5-4-3-2-10 l 2 3 456 7
19) €——————Omimmjjjjj)

-7-6-5-4-3-2 10 l 2 3 456 7

765—4—3—2101234567

23) €———+Om=

—7—65—4—3—2101234567

s mabh-worksheeh.ory

2)
4) €
6)

—7—65—4—3—2101234567

—7—65—4—3—2101234567

-7-6-54-3-2-10123 456 7

8)(—_!—!—0:::_:::::::::)

10)(:::::::::

-7-6-5-4-3-2-101 2 3 4567

12)
-7-6-5-4-3-2-101 2 3 456 17
14)
-7-6-5-4-3-2-101 2 3 456 17
16)
-7-6-5-4-3-2-101 2 3 45 6 7
18)
-7-6-5-4-3-2-101 2 3 45 6 7
20)
-7-6-5-4-3-2-101 2 3 45 6 7’
22) € @=i=jmmjmmjmjjje)
) -7-6-5-4-3-2-101 2 3 456 17
24)

-7-6-5-4-3-2-101 2 3 4567

math-worksheet.org



Assignment
Draw a graph for each inequality.

1) v< -1

-7-6 -5-4-3-2-101 2 3 4 5 6 7

3) x<-4
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
5 m>-1

-7-6-5-4-3-2-101 2 3 4 5 6 7

7) x>5

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

9) b>-1

-7-6 -5-4-3-2-101 2 3 45 6 7
11) a<-4

-7 -6 -5-4-3-2-101 2 3 45 6 7
13) p>6

-7 -6 -5-4-3-2-101 2 3 45 6 7
15) n>—-4

-7-6 -5-4-3-2-101 2 3 45 6 7

17) n>6

-7-6 -5-4-3-2-101 2 3 45 6 7

19) m>3

-7-6-5-4-3-2-101 2 3 4 5 6 7

Name

ID: 6

Date

Period

2) v<2

-7-6 -5-4-3-2-101 2 3 45 6 7
4) x<5

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

6) k>2

-7-6-5-4-3-2-101 2 3 4 5 6 7

8) b>—-4
-7-6-5-4-3-2-101 2 3 45 6 7
10) x<6

-7-6-5-4-3-2-101 2 3 4 5 6 7

12) a<-1

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

14) p<2

-7-6 -5-4-3-2-101 2 3 4 5 6 7
16) r>2

-7-6 -5-4-3-2-101 2 3 456 7
18) x<6

-7-6-5-4-3-2-101 2 3 45 6 7

20) r<3

-7-6 -5-4-3-2-101 2 3 4 5 6 7
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21) x<3 22) v>3

-7 -6 -5-4-3-2-101 2 3 45 6 7 -7 -6 -5-4-3-2-101 2 3 45 6 7
23) k<0 24) b>0
-7-6 -5-4-3-2-101 2 3 45 6 7 -7-6 -5-4-3-2-101 2 3 45 6 7
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11)

19)

Answers to Assignment (ID: 6)

-7-6-54-3-2-101 23 4567

765—4—3—2101234567

-7-6-5-4-3-2 10 l 2 3456 7

-7-6-54-3-2-101 23 4567

-7-6-54-3-2-10123 45617

-7-6-54-3-2-10123 45617

-7-6-54-3-2-10123 45617

-7-6-54-3-2-101 23 45617

2

23) €=

—7—6—5—4—3—2 10 1 23 4567

—7—65—4—3—2101234567

s mabh-worksheeh.ory

2) €
4) €

—7—65—4—3—2101234567

—7—65—4—3—2101234567

6)
-7-6-5-4-3-2-101 2 3 45 6 7’
8) €@l
) -7-6-5-4-3-2-101 2 3 45617
10) mmbmslemmmmsfsfemmessfsmmsfs s O——>-
-7-6-5-4-3-2-1012 3 45 6 17
12)
-7-6-5-4-3-2-1012 3 45 6 17
14)
-7-6-5-4-3-2-101 2 3 456 17
16)
-7-6-5-4-3-2-101 2 3 45617
18)
‘—7—6—5—4—3—2—10 123 4567
20)) "o
) -7-6-5-4-3-2-101 2 3 45617
22)
-7-6-5-4-3-2-1012 3 45 6 17
24) » ' 2 » ' » '

76-5-4-32-10123 45617

math-worksheet.org



Assignment
Draw a graph for each inequality.

1) x>6

-7-6 -5-4-3-2-101 2 3 45 6 7

3) b>3

-7 6 -5-4-3-2-101 2 3 4 5 6 7

5 p<6

-7-6 -5-4-3-2-101 2 3 4 5 6 7

7) n<—4

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

9) n<0

-7 -6 -5-4-3-2-101 2 3 4 5 6 7
11) n>—4

-7 -6 -5-4-3-2-101 2 3 45 6 7
13) x<-3

-7 -6 -5-4-3-2-101 2 3 4 5 6 7
15) x>-3

-7-6-5-4-3-2-101 2 3 4 5 6 7

17) b>0

-7-6 -5-4-3-2-101 2 3 45 6 7

19) p<-3

-7-6-5-4-3-2-101 2 3 4 5 6 7

Name

ID: 7

Date

Period

2) X>-4

-7-6 -5-4-3-2-101 2 3 4 5 6 7

4) a>0

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

6) a<3

-7-6 -5-4-3-2-101 2 3 45 6 7

8) r<3

-7 -6 -5-4-3-2-101 2 3 45 6 7

10) r>6

-7-6 -5-4-3-2-101 2 3 45 6 7

12) k>3

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

14) m<6

-7-6 -5-4-3-2-101 2 3 45 6 7

16) x<0

-7-6-5-4-3-2-101 2 3 4 5 6 7

18) x>-3

-7-6 -5-4-3-2-101 2 3 45 6 7

20) v>—-6

-7-6 -5-4-3-2-101 2 3 4 5 6 7

=
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21) k<6 22) m<—6

-7-6-5-4-3-2-101 2 3 45 6 7 -7-6 -5-4-3-2-101 2 3 45 6 7
23) p>-6 24) n<4
-7-6 -5-4-3-2-101 2 3 45 6 7 -7-6 -5-4-3-2-101 2 3 45 6 7

2 gagsve path-gssrsheel.ory
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1)
3)

5) €=

7)

9) €=

Answers to Assignment (ID: 7)

-7-6-54-3-2-101 23 4567

—7—65—4—3—2101234567

—7—6—5-4—3—2 10 1 2 3 4 5 6 7

765—4—3—2101234567

—7—6—5—4—3—2 10 1 23 4567

11)

-7-6-54-3-2-101 23 45617
13)

-7-6-54-3-2-1012 3 45617
15)

-7-6-54-3-2-1012 3 45617
17)

-7-6-54-3-2-1012 3 45617
19)

-7-6-5-4-3-2-101 2 3 45 617
21)

765—4—3—2101234567
23) €<+0=

—7—65—4—3—2101234567

s mabh-worksheeh.ory

2)
4)

6) €=
8) €~

44443&56i552§é3

—7—65—4—3—2101234567

—7—6—5—4—3—2 10 1 2 34567

-7-6-5-4-3-2-1012 3 456 7

10)

-7-6-5-4-3-2-1012 3 45 6 17
12)

-7-6-5-4-3-2-1012 3 45 617
14)

-7-6-5-4-3-2-101 2 3 456 17
16)

-7-6-5-4-3-2-101 2 3 45617
18)

-7-6-5-4-3-2-101 2 3 45617
20) €Omimmjmjmj sl ——_—

-7-6-5-4-3-2-1012 3 45617
22)

24) 4=

—7—6—5—4—3—2 10 1 2 3 4 56 7

—7—65—4—3—2101234567
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Assignment
Draw a graph for each inequality.

1) r<-3

-7-6-5-4-3-2-101 2 3 4 5 6 7

3) n>4

-7-6-5-4-3-2-101 2 3 45 6 7

5) v>-6

-7 -6 -5-4-3-2-101 2 3 45 6 7

7) v>-3

-7 -6 -5-4-3-2-101 2 3 45 6 7

9) x<-3
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
11) b<4

-7-6 -5-4-3-2-101 2 3 4 5 6 7

13) x>1

-7-6 -5-4-3-2-101 2 3 4 5 6 7

15) n<1

-7-6 -5-4-3-2-101 2 3 45 6 7

17) n<1

-7-6 -5-4-3-2-101 2 3 4 5 6 7

19) x>-2

-7-6 -5-4-3-2-101 2 3 45 6 7

2 gagsve path-gssrsheel.ory

ID: 8

Name
Date Period
2) r<-6
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
4) n<0

-7-6-5-4-3-2-101 2 3 45 6 7

6) x>0

-7 -6 -5-4-3-2-101 2 3 45 6 7

8) m>4
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
10) k<—6

-7 -6 -5-4-3-2-1012 3 4 5 6 7

12) x>-3
-7 -6 -5-4-3-2-101 2 3 4 5 6 7

14) a>-6

-7-6-5-4-3-2-101 2 3 4 5 6 7

16) n<4

-7-6 -5-4-3-2-1012 3 45 6 7

18) x>1
-7-6 -5-4-3-2-101 2 3 45 6 7
20) r<-2

-7-6 -5-4-3-2-1012 3 45 6 7
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21) v<-2 22) k> -1

-7-6 5-4-3-2-101 2 3 4 5 6 7 -7 -6 -5-4-3-2-101 2 3 4 5 6 7
23) k>3 24) n>—4
-7 -6 -5-4-3-2-101 2 3 4 5 6 7 -7 6 -5 -4-3-2-101 2 3 4 5 6 17
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11)
13)
15)
17)
19)
21)
23)

Answers to Assignment (ID: 8)

-7-6-54-3-2-101 23 4567

765—4—3—2101234567

—7-6—5—4—3—2 10 l 2 3 456 7

-7-6-5-4-3-2-1012 3 45617

-7-6-54-3-2-101 23 4567

-7-6-54-3-2-10123 45617

-7-6-54-3-2-10123 45617

-7-6-5-4-3-2 10 l 2 3 456 7

-7-6-5-4-3-2 10 l 2 3 456 7

-7-6-5-4-3-2-1012 3 45617

-7-6-54-3-2-101 23 4567

s mabh-worksheeh.ory

2)
(—7—6 5—4—3—2101234567
) 765—432101234567
6)
-7-6-5-4-3-2-10 1 2 3 4 5 6 7
8)
-7-6-5-4-3-2-1012 3 4567
10)
-7-6-5-4-3-2-101 2 3 45617
12)
-7-6-5-4-3-2-101 2 3 456 17
14)
-7-6-54-3-2-1012 3 4567
16)
-7-6-54-3-2-1012 3 4567
18)
-7-6-54-3-2-1012 3 4567
20)
-7-6-5-4-3-2-1012 3 4567
22) Ol

-7-6-5-4-3-2-101 2 3 4567

24) €+—++O=

76-54-32-10123 4567
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Assignment
Draw a graph for each inequality.

1) x<-4
-7-6 -5-4-3-2-101 2 3 4 5 6 7

3) m<3

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

5) b<0

-7-6 -5-4-3-2-101 2 3 4 5 6 7

7) a>0

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

9) p>6

-7-6 -5-4-3-2-101 2 3 4 5 6 7

11) n>0

-7 6 -5-4-3-2-101 2 3 4 5 6 7

13) n<0

-7 -6 -5-4-3-2-101 2 3 45 6 7
15) x>-3

-7-6 -5-4-3-2-101 2 3 4 5 6 7
17) x<-3

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

19) n>-3

-7-6-5-4-3-2-101 2 3 4 5 6 7

Name

ID: 9

Date

Period

2) X=6

-7-6-5-4-3-2-101 2 3 4 5 6 7

4) x<6

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

6) a<-4

-7-6-5-4-3-2-101 2 3 45 6 7

8) p>3

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

10) n>—4

-7-6-5-4-3-2-101 2 3 45 6 7

12) v<3

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

14) r<6

-7 -6-5-4-3-2-101 23 45 6 7
16) m>3

-7 -6 5-4-3-2-101 2 3 4 5 6 7
18) x<-3

-7 -6-5-4-3-2-101 2 3 45 6 7

20) r<-6

-7-6 -5-4-3-2-101 2 3 4 5 6 7

"
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21) k> -6 22) x> -6

-7-6-5-4-3-2-101 2 3 45 6 7 -7-6 -5-4-3-2-10 12 3 45 6 7
23) X<-6 24) v<4
-7-6 -5-4-3-2-101 2 3 45 6 7 -7-6 -5-4-3-2-101 2 3 45 6 7

2 gagsve path-gssrsheel.ory
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Answers to Assignment (ID: 9)
s A 2)

‘—7—6—5—4—3—2—10 1 2 345617 ‘—7—6 5—4—3—2 10 1 2 3 4 5 6 7
3 o>
) —7—6 5—4—3—2101234567 ) -7 -6 5—4—3—2101234567
5) €= b= —————+> 6)

—7—6—5-4—3—2 10 1 2 3 456 7 -7-6-54-3-2-1012 3 4567
7) €O} = 8)

-7-6-5-4-3-2-10 l 2 3 45 6 7 -7-6-5-4-3-2-1012 3 4567
D e o e 10) € @il

-7-6-5-4-3-2-101 2 3 45 617 -7-6-5-4-3-2-101 2 3 45617
11) €t @il 12)

-7-6-54-3-2-101 23 45617 -7-6-5-4-3-2-101 2 3 456 17
13 = A 14)

-7-6-54-3-2-1012 3 45617 -7-6-5-4-3-2-101 2 3 456 17
15) €———-Omienjmmjjjjjjgs 16)

-7-6-54-3-2-10123 45617 -7-6-54-3-2-1012 3 4567
17) i O——————————> 18)

-7-6-5-4-3-2 10 l 2 3 456 7 -7-6-54-3-2-1012 3 4567
19) €4+———+0= . ————— 20)

—7-6—5—4—3—2 10 l 2 3 45 6 7 -7-6-5-4-3-2-1012 3 4567
21) € =) I e o e e o o o =

-7-6-5-4-3-2-101 2 3 45 617 —7—6—5—4—3—2 10 1 2 3 4 S 6 7
23) =+ t—t—+—+++t+++> 24) €=

-7-6-54-3-2-101 23 45617 —7—6 5—4—3—2 10 1 2 3 4 56 17
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Assignment
Draw a graph for each inequality.

1) x<-3

-7-6 -5-4-3-2-101 2 3 45 6 7
3) x<0

-7-6-5-4-3-2-101 2 3 45 6 7
5) k>-6

-7-6 -5-4-3-2-101 2 3 45 6 7
7) b>4

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

9) a<0

-7-6 -5-4-3-2-101 2 3 4 5 6 7

11) x<-3
-7 -6 -5-4-3-2-101 2 3 4 5 6 7
13) n>1

-7 -6-5-4-3-2-101 2 3 45 6 7
15) n<1

-7-6-5-4-3-2-101 2 3 4 5 6 7
17) r>-3

-7-6 -5-4-3-2-1012 3 45 6 7

19) x>1

-7-6 -5-4-3-2-101 2 3 4 5 6 7

Name

ID: 10

Date

Period

2) v< -6

-7-6 -5-4-3-2-101 2 3 4 5 6 7
4) m>4

-7 -6 -5-4-3-2-101 2 3 4 5 6 7
6) x>-3

-7-6 -5-4-3-2-101 2 3 4 5 6 7

8) x>0
-7 -6 -5-4-3-2-101 2 3 45 6 7
10) a<4

-7-6 -5-4-3-2-101 2 3 45 6 7

12) p<-6

-7 -6 -5-4-3-2-101 2 3 4 5 6 7

14) k<4

-7-6 -5-4-3-2-101 2 3 45 6 7
16) r>-6

-7-6 -5-4-3-2-101 2 3 45 6 7
18) x<1

-7-6 -5-4-3-2-101 2 3 45 6 7

20) x<-2

-7-6 -5-4-3-2-101 2 3 4 5 6 7

"
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21) p>-2 22) v>-2

-7 -6 -5-4-3-2-101 2 3 45 6 7 -7-6 -5-4-3-2-10 12 3 45 6 7
23) x<-=2 24) a<-5
-7-6 -5-4-3-2-101 2 3 45 6 7 -7-6 -5-4-3-2-101 2 3 45 6 7

2 gegsgs apatih-worhsheet.ory
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Answers to Assignment (ID: 10)

7)

76-5-432-1012345°67

-7-6-54-3-2-10123 45617

9) €
11)
13)
15)
17)
19)
21)
23)

76-5432-101234567
76-5432-101234567
7-6-5-4-32-101234567
7-6-5-4-32-10123 4567
7-6-5-4-32-10123 45617

-7-6-54-3-2-101 23 45617

-7-6-54-3-2-101 23 4567

s mabh-weorksheeb-org

2)

-7-6-5-4-3-2-1012 3 45 617
4)

-7-6-5-4-3-2-101 23 45617
6) =

-7-6-5-4-3-2-101 23 45617
8) € @bt} >

-7-6-5-4-3-2-101 2 3 4567

L) I o e o o

12)
-7-6-5-4-3-2-101 2 3 456 17
14)
-7-6-5-4-3-2-101 2 3 456 17
16)
-7-6-5-4-3-2-1012 3 456 7
18)
-7-6-5-4-3-2-101 2 3 45 6 7
20)
-7-6-5-4-3-2-101 2 3 45 6 7’
22) €4+ @=i=jmjmmjmjmmjjmj)
) -7-6-5-4-3-2-101 2 3 456 17
24)

-7-6-5-4-3-2-101 2 3 4567
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